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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Marks are indicated on right side.

1 (@) What 1is operation research ? Explain its types. 10
(b) State the advantages and limitations of L.P.P. 10
OR

1  Maximize the objective function Z =3x +2x, + 5x3 with 20

following constraints using simplex method :
X]+2xy +x3 <430

3x1 +2x3 <460

x] +4x, <420

X1, X2, X2 >0

2 (a) Explain : Principle of Laplace, principle of Horwich. 10

(b) The cost price of a commodity is Rs. 12 per unit 10
and its selling price is Rs. 14. The commodity can be
returned at Rs. 10 if it remains unsold during a day.

The probability distribution of its demand is as follows :

Demand of the units : 1 2 3 4
Probability : 0.3 0.4 0.1 0.2

How many units of the commodity should be kept daily
for getting maximum profit.

OR
2 (a) Explain : 10
(1) Two person zero sum game
(2) Principle of Dominance.

(b) Solve the following game by using principles of 10
dominance :

wn N =
—_— N ]
AN NN
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Explain :
(1) Advantages of inventory
2 EOQ.

OR
Explain :
(1) Objectives of inventory

(2) ABC analysis.

Discuss in detail on PERT and CPM techniques for
implementing monitoring and controlling a project under
project network techniques.

OR

Prepare a PERT diagram for the following project and
determine critical path and total time :

15

15

15

15

Activity : 1-2 | 2-3(24 (35|36 |46 |57 ]|6-7 |78
Time (in hours) :| 6 8 8 18 | 20 | 10 8 2 7
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